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S JoE: 3=F

* 24 A~ 10/100Base~TX 3% = RJ45 4%

* f§4&47%: |EEE802.3 10Base-T, IEEE802.3u 100Base-TX,
IEEEB02. 3x i#ii= At

C REEA: AR

o WAL 19. 6Gbps

* MAC ik & ko )v: 8K, B#1% 3]

° LA RRE: 9. bMpps

AFdeARA

* EMI: FCC Part15 Subpart B Class A, EN 55022 Class A

I &M:

o Wk AC220V

o At < 200

o THEBE: -20°C ~ +70°C

* BBIRE: -45°C ~ +857C

e hAHBE: 0 ~ 95%, ALk
M A= R T

o ZHERTF: KFEFE (m) 440 X 225 X 44
o wH IR WUMRK

* GHFR: IP0 B ER, LA miLt

* EMS: EN 61000-4-2(ESD) %% 4, EN61000-4-3 (RS) %4 3, * MTBF: 100000h
EN61000-4-4 (EFT) %48 4, EN61000-4-5 (Surge) %4 4,
EN61000-4-6 (CS) 44 3, EN61000-4-8 ¥4 5
e #F: IEC60068-2-27
e Al TF%: IEC60068-2-32
e Z#: IEC60068-2-6
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